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(s wOHmID Bl euyl / Tamil & English Version )

&Te 2jera] : 2.30 wewil CHIL ] [ Qrss wutuerger : 70
Time Allowed : 2.30 Hours | [ Maximum Marks : 70
Sdlejemraet : (1) Soarsg edlarrss@pd slwrs ueurd o dreTsT 6remLSaman

Instructions :
GolLy ()

(i
Note : (@)

siluTTggs Qamerareybd. F&HULSeNled GapuimLllber e
sasrentiiurerflib o L arnguwirg Csflellsseam.

(2) feo ok &SmUY owulamear LLHGCWL W USDHEGLD
S &CHMg(HeusH@D Lwet(hds GCeuear(hd. LILBISET eUanFeUSDN S
Quenfled LweT(HSHe| .

(1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@&3| - 1/ PART -1
Slemensg NlaTéssEhsEn allenwetléseb. 15x1=15
Car@ssuul(Berer wrHm oL saled Wb eHLenL W
devLerwd CarpOgshdss @GMuILHLear elleLuleamenyb GCargg)
CT(LPSaLD.
Answer all the questions.

Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.
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1.

‘Lflewrmiog CQewphummi@’ erepd Hrevew GleueafludllLeurm :

(=) anmig eSemGlurg (<) abGar 13 Qeuflev
(@) GLrigrerevdl () g.eTev. evGltemev
The book ‘Process of organic evolution” was written by :

(a) Hardy - Weinberg (b) Hugo de Vries

(c) Dobzhansky (d) G.L. Stebbins

auaflar_gdle o érer srhenm CrflenLwinss seursls@d Smer Cubm 2 udlm

WBeser

(1) srrliyser (<=y) umed WSenser

(@) @prevser (r) yener Werger

The fishes which are capable of directly breathing atmospheric air
(a) carps (b)  milk fishes

() murrels (d) catfishes

aumuiled (pLenl_seneT eneusbgl DHenLsTeH@GD el (h Berr cuena
(<) doorGur (=) CeolLev (@) slem (FF) dled
The exotic fish which exhibits buccal incubation is

(a) Tilapia (b) Lates (c) Catla (d) Mugil

L anpLCrimseLieummed eremiig) :

(1) @O BpeTiq LMy

(=) @ Coudlwug CAsr@ly, QbuCarmblaaiear ellaaryfldng

(&) @® yamgger

() @m QbuCarrger b JarTd FgnHHaTGel o @mLTSSULIL L
<, MTlq LIMTlg &(@hL6m edlenarfluyn

Dinitrophenol is :

(a) an antibody

(b) a chemical group reacts with immunogen

(c) an antigen

(

d) not an immunogen but reacts with pre-formed antibodies
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5. &Gy Qaer@ssiulLemeasafld sflursls QUTBBSTS Qaent erag ?

(1) rbCarflwm - LUt umsl yesm
(=) ereml g Grmomioo - LFnE LTSl p,e0s T
(@) HCrsCeflwmr - Sleuliyl urd s
(/r) Gummeeeuym - Be uFeng LTS y0sT

Which one of the following is not a correct pair ?

(a) Laminaria - Brown algae

(b) Enteromorpha - Green algae

(c) Gracillaria - Red algae

(d) Porphyra - Blue green algae

6. gaoLaTlUmU LLHUUBSHID WwHHSer rhsHHSEETL(H

(=) gBsCrmenndlen (<=, engdsCGarmavGLimil e
(@) @QlLCameb (FF)  <4LDGTL Iq Iq 60T
An example for immunosuppressive drug is
(a) Anthromycin (b) Cyclosporin
(c) Imidazole (d) Amantidine
7. &Tegerled glgLlilderenio Crmruler oid@nlwurs Cgremmeorid.

(<=1) @rss Up 2 Lpsipns
(<) Qswsswafl Cpmi
(&) Qsws Geopur®

() Qswés CFwedlipLi
Weak pulse in leg is a sign of

(a) peripheral vascular disease

(b)
(©)
(

d) heart failure

coronary artery disease

heart disorder
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8.

10.

@ adCrgGarmer epadsanm FBRIFNSHATTL TG
() 2 yeourm wHmid 1 S (<) 1 peour wHmid 2 Siem
(@) 2 <peour womid 2 155 () 1 <peour womib 1 S

Each haemoglobin molecule consists of

(a) 2 alpha and 1 beta chain (b) 1 alpha and 2 beta chains

(c) 2 alpha and 2 beta chains (d) 1 alpha and 1 beta chain

er&.e0.64. eTemn gleneants GHDLUSMSE FTTHS 6(H CUMSITGLD.
(=) CruGLm eeuryev (<=,) Quail&edlwm

(@) eurddleflwum (FF) GeveriganeuflGerr

HIV is a member of the sub-family

(a) Rhabdovirus (b)  Pencillia

() Vaccinia (d) Lentivirinae

Ceutiussrhsaile wrhseafler warhss CamrsamssE WPaHWLTsL LweTU(heug

(1) eorCammélymen eueT(HEHET (<) UT(HL UDENEISET
(@) OO 6Nl 1qev&erT (rF) <l Coatsser
Which organism plays a vital role in pollination of trees in tropical forest ?

(a) Rhinoceros beetle (b) Humming birds

() Mimic moths (d) Orchid bees
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11. QuUTmHSHIS.

(1) Samgmsier Qarflur () oLd GCrrGurCsamer Sef wrhHn ader
(2) &I fleurer Gerens (i) CanrCrangsev e(InI@ ger

(@)  erarwr@Garmyadlefiiur (i) o L& GCrrGurCamer emii@ ader

(@) seorédwr (iv) @bniE e
() M-0O  @-Gv) @)= (4)- (i)
() M- @-@Gv) ©@)-@0 @) - (i)
(@) M- @-0 -G @-3§
(F) M-@) -0  ©@)-G @)-@0)

Match the following :

—~
—_

Huntington’s chorea i)  Autosomal mutant allele

)
(2) Sickle cell anemia ii) Homozygous recessive gene

(3) Agammaglobulinemia iii) Autosomal dominant gene
(4) Thalassemia iv) Recessive gene

@ @O-0 @-G) E-3) @)-G

() M- @-@Gv) ©)-O @) -

© @-@) @-0H ©->0v) @-30)

d @O-@) @-0 -0 @)-@iv)

12. 2 @enerlipader s Casreifige aleanereurs eumd emrreuraier GLuwim

(=) Cansevrsrbs (<y,) Hlevig LlFrgen
(@) pringlly eomreum (FF) <pmGasrevgum
The first moult of Ascaris larva results in larva.

(a) Hexacanth (b) Cysticercus

() Rhabditi form (d) Onchosphere
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13.

14.

15.

Fapml (A) : B Brilgd, Geflir sremgefed Lgdoadlude eumipb wésaer
shiger ai(hsafledy sTHy s gem LweTUHESIS e

smyewtd (R) : odls eraller uUigs erfQummener  LiweTU(h S 6l s e
ellenereurs uFle sjereller epanl Crramiuerger GleuertludlL -

L FlesTmert.
(1) (A) -&fl, wpmid (R) -&f; (R) - (A) -eow eSlerd@Slng
(<=4) (A) -saum yeammed (R) -&il
() (A) -&ifl O (R) -Heum
() (A) -&f oML (R) -&f g eammed (R) - (A) -eow sflwurs eflersselldvene

Assertion (A) : In our country, during winter, most of the people living in New Delhi
use air filter in their homes.

Reason (R) : Excessive use of fossil fuel, which results in emission of hydrocarbons.
(a) (A) is correct and (R) is also correct; (R) explains (A).

(b)  (A) is wrong but (R) is correct.

() (A) is correct and (R) is wrong.

(d) (A) is correct and (R) is also correct but (R) does not explain (A).

Qeuan_fgSleflen Wlanammbmed Wereneid @GHG@GL F.8.89. Sjene

(=1) Q Sievew (<) T e

(@) P emev (FF) Q R, S enavser
The ECG wave due to ventricular repolarization is

(a) Q wave (b) T wave

(c) P wave (d) Q R, Swaves

ELCLrOgaflefieny QFwWQI&HEHE STTeRTD

(=) @dls derafleorar G EpsCamen <, &allsTeanTd
(<) @dls ereileorar Lrgb o HuSSHwTge

(@) <dls serafleomer CsmIpLiL] 2 &edlsrenTid
() @onbs <lerellorar GEmpLiL) <, &elsTeamrTd
The reason for the ketogenesis is :

(a) Increased glucose catabolism

b) Increased protein anabolism

(
(c) Increased fat catabolism
(d) Decreased fat catabolism
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u@d) - 11/ PART - 1I

@y = ()  eTemeuGuienid opmi ellammésEndE edlenLefléseb. 6x2=12
(i) ederm erewr 24 -&@ elenLwaflliLg &L mubmELD.

Note : (i) Answer any six of the following.
(i) Question No. 24 is compulsory.

16. e wefgear e amwe CsTeanaein@ BLsSlprer. UCLTE e LPET 66T

17.

18.

19.

20.

21.

sTdled GSgF g, oL Car Seuen Gatdmrer. Cg FWID jeuer 2 L edler

WG u@dude Qurmgligerme Cumed e auad eHUBHEDE. @&, 2 L efler
Yer LEH sengsatled Slle@rear UL LTHDOLD. G\Smar clleTsEs.

A man is walking for a mile. A thorn pricks his leg so suddenly he bows down. At that
time he gets sudden sparking pain at his back. This is due to sudden change in the
position of back body muscles. Explain it.

G pnmedlen Hlenmaer erCHend QreamenL_& Fnmis.

Mention any two advantages of solar energy.

Caumu®sgis : Coupml Hpdleambser whmib efl& Shmeammiser.

Differentiate allopatric and sympatric species.

Fal_ () Werr cuermiged QsmenTiqhdbs CeuanTig W% SeuSlIDTET LGRTL| Wirg) ?

Which character is very essential for cultivable fishes in polyculture ?

wHm Blpain Qsrfleom i unismer @UEbHLGUTE CT -uder Goemenowmer

LweUT(H&ET wWrened ?

What are the advantages of CT over other imaging techniques ?

2 (menerliL(pedler eurpsand spnHFlule Geuatlblenay erammmed eremmen ?

What is exogenous phase in the lifecycle of Ascaris ?
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22.  @ubuCanm @GCermedlen jenwlidler LLID cuenIhgl LTSBIGmeTds @GDILIG(Hs.

Draw a labelled diagram of immunoglobulin.

23. 2.u9f sseuallwe LweaLHSSLILBHEH @D Femmsamer Guwifl(Hs.

Name the various fields in which the science of bioinformatics is applied.

24. Gleu@ allenralley, gl Br(H 2 GG 1fls WW&S5ETUSTNS: 2 el W BILTE
wrpl Curdlpgl. wéser CAsrensuler QbHg 2SS auaTidsl, 2 are| 2 HuddlenwiL
Qu@mEs UgIl u@dasmens samL_Hlu i(pssd (esThsdng. CMFRI, sgil
Bleolugdseamer, Hir 2 ulfl cuerily ugHserns wrHNESHES < Corsamer
ULPEISlu|6Terg). jeueumm rHMiarTd ereuelTmrear @Gl wHmb Curgés
&&TSTT UL sener Brd Fhdlés Crfl(Hwn ?

Very soon our country will be the world’s highest populous country. This alarming
rise in population forces us to find new areas for food production. CMFRI suggested

the conversion of mangrove forests into aquacultural areas. If so, what will be the
environmental and health problems we will be facing ?

L@3| - 11/ PART - III

GOy : ()  eTemeuGuienid oym| edlearmmssEnéE edlenweflsseb. 6x3=18
ii) ellerm erewr 33 -&@ eYlen_waflliLg SL_L_TWLONEGLW.
Note : i)  Answer any six of the following.

ii) Question No. 33 is compulsory.

25. oy wrppliul L eleomigseater LwerUT(HEET Wrenel ?

What are the uses of transgenic animals ?

26. wrevl Cewgear Hamseambd Curg CeuelCuppliiL@®b Coudwu Fuil&Eeam ehL
CummeTS6T Wreneu ?

Name the chemical alarm signals released by damaged mast cells.
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WBeir eueiliLd @Gerddled epafludien Limi@; eTemen ?

How does light influence in pond fish culture ?

Wenswrer gl alerTidleng wrHmsHlermed gouBd Crruller Gluwm
wHmb SMGHsmer afleul.

Mention the name and symptoms of the disease characterised by increased BMR.

epeneTd SaT(heul g Slreugdler Lienlser wrenel ?

What are the functions of cerebro spinal fluid ?

2 aTent&aniql SlUA e s&Tar @am&sl 2 areur@ld - Hlumuliubhiés)s.

Oyster meat is nutritious - Justify.

DNA BIe0&LD 6T6MT6) 6TE6T ?

What is DNA library ?

peder Blamamuilflwe 2 (peurs Corels dlevli o (Heursdw GQFlipenmenwl
oMlemsGs.

Which technique did Joseph Lister develop in modern microbiology ? Explain.

9Fls canatsmasullorar en Goflamligser wHmD @Geflif Frger
Quiigsener LWaTUHSSISTD Fours CHTUSET FHLIL& STFenTordlemmg.
@&ammnenm Didleflwc Mle|Telnrs cdlemd@s.

Usage of large number of air conditioner and refrigerators can cause respiratory
ailments. Explain this statement logically.
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U@l - IV/PART - IV

GNILIY : Semesisg efammasErs@h aflenLwaefldse, L. 5x5=25

Note : Answer all questions.

34. (&) prd, Yoo unEIFSHETS 2 aramel 2 L LaTatdCnrid. @Qbs <,HMme
B 2 1 60 eueTi&Sl&@D, Fuouriqn@h uwearubhidng. C&fssaissE$n
Oedwgaier nmmed 2 MHUSHEGDL Qe _Cuwrear CFwe Wemaeanar
cllems @ s.

3|6060F)

(=) @rés0, Qréss Gpdlaer Qusew Curg wigen Srasseamoeau
ugmofés Ceuarhib. 2Cs @Qrssb B 2 Lame 6 (h Geafleumnd Cumrg)
g capsed ol CauarGb. Qbs Q@ HoosEpb
urroflssiurrellLme, B 2 Ldld Lo AFTSTFTmT Hlenavsar
Carammid. Db ASFTHTTERT Hlepasaner 6lleTsEs.

(a) We consume food for energy. The energy is used for physical growth and
activities. Explain the processes present between digestion and energy formation
at cells.

OR

(b)  When the blood is present in the blood vessel, its fluidity must be maintained.
When the blood comes out of the body, it should get clotted. When these two
conditions are not maintained many abnormalities would occur in our body.
Explain those abnormalities.

35. () 2@sarmellu Geutit 2 wreflermed Ludlrsailg)d, welgealab egHuhHLD
dlemeTe &6 wrened ?
S|V
(<=1,) eramauCGugnid @mbg Beratm SjomisTy Wersemer LHM edleufldsab.
(a) Give the effects of global warming on plants and animals.
OR
(b) Describe the characters of any five freshwater ornamental fishes.

36. (=) Lmedl ererm Gabwmdl <l (&Gl Carardlu Ggwapern alaTé&ssams
S5HS- .
ENNENEY
(<) 28 H&THTT Aenoliber (WHO) Lig, euenrwmisslinil L eriilev Comudler
SINGMFEeT wreneu ?
(a) Ilustrate the mechanism by which Dolly, the sheep was born.

OR
(b) List down the symptoms of AIDS as defined by WHO.
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37. (&) sreopanl_ulle eraflfled Lie culsetled LiFaudaniqus Crriseaner UL iq il (Hs.
360605
(<=4) B B, 2uldflu 1@ euetid GsrearT Br(hsete eemm. CSTLHLWILDTESW
STreuroms, BID srhsmer HP&ESHCord. Qg wWe Gurswmern
ellenereyseneT FHLIHSSOMLD. erem, B 2 uflflw 1@ cueTBISEET LIS T&HS
Cauar(hid ? =jeueurm upmoigEs Brn Cuopolgrerer Gouemriq Sl L BigGeT
wrened ?
(a) Tabulate the diseases which are spread easily in cattle.
OR

(b)  Our country is one of the richest biodiversity countries. Due to industrialisation
we destroy forests. It may lead to very serious consequences. Why should we
conserve biodiversity ? What are the strategies we can adopt ?

38. (=) N@mBCHTDLIA (Hymeelil & Hupmeur) o Laled Slrmolil QnHE
QeueNCuDPUILHS DS eTemm (M HSSIEUT eTeleUTn SevrLPleumT ?
S|V

(=) Caat m Fups SmwlymLwg. @ Csar gmliqd aparn Frdear
2 éermen. Saneu aennGlwimenn ribdpéHlemnear. Caeatssaflern aurpsans
FLOME PO D ENEUSET 66TEn DOl WITEITM| 6TEGUT) FTTHGICTETE 6T LGNS
ollemsGs.

(a) How will a doctor identify that the host body has rejected a graft ?

OR

(b) Honey bee is a social insect. There are three castes present in a hive. They depend
on each other. By means of life cycle explain their dependence on each other.

-00o0-
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